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（3）全体の符号 →「－」 
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（5）  （6）（両辺 6 倍） 
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（8） 

 売値－仕入れ = 利益より、 

 

2

2

2

2

1000(1 )(1 ) 1000 40
100 100

1000(1 ) 1000 40
10000

1000 1000 40
10

40
10

400

20

a a

a

a

a

a

a

    

   

   





 

　

　

 

19 11
2

5 5
8

2
5
4
5

a

a

a

 





2
16 3 16 3

9
1 2
3 3

1
3

     

  



4 8 3 6 12 6

6

2 5

6

x y y x x y

x y

    


 


3 6
4

2 3

21

1

1

5 3 16
20

6 2

a b b
ab

a b
   

　　　 　
　　 　　 　 　　

　

2 2 2 2

2 2 2

2 2

2

1

( 1) ( 1)

( 1)( 1)

( 1)( 1)( 1)

x y x y

x y y

y x

y y x

  

   

  

   

2

2 2

2 2

2

2( 1)(5 ) 3( 1) 12

2( 6 5) 3( 2 1) 12

2 12 10 3 6 3 12

6 5 0

( 1)( 5) 0

x x x

x x x x

x x x x

x x

x x

     

       

       

  

  

1000

1000 (1 )
100

1000(1 ) (1 )
100 100

40

a

a a



  

   

 

仕入れ 円

定価

売値

利益 円

20a 

48


